

2015年7月3日 11:21 尚 記

$$A = \begin{pmatrix} 3 & -9 & 3 & 6 \\ 2 & 4 & 0 & -2 \\ 1 & -13 & 3 & 8 \\ 1 & -3 & 1 & 2 \end{pmatrix} \quad \Rightarrow \text{求 } \text{ker}(A), \text{Im}(A) \text{ の基底}$$

基底を求めよ。

$$A \rightarrow \begin{pmatrix} 1 & -3 & 1 & 2 \\ 1 & 2 & 0 & -1 \\ 1 & -13 & 3 & 8 \\ 1 & -3 & 1 & 2 \end{pmatrix} \xrightarrow{\substack{2r+ = 1r \times (-1) \\ 3r+ = 1r \times (-1) \\ 4r+ = 1r \times (-1)}} \begin{pmatrix} 1 & -3 & 1 & 2 \\ 0 & 5 & -1 & -3 \\ 0 & -10 & 3 & 6 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$\downarrow 3r+ = 2r \times 2$

$$\begin{pmatrix} 1 & 0 & 1 & 2 \\ 0 & 1 & -1 & -3 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix} \xleftarrow{\substack{2r \times = \frac{1}{5} \\ 1r+ = 2r \times 3}} \begin{pmatrix} 1 & -3 & 1 & 2 \\ 0 & 1 & -1 & -3 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix} \leftarrow \begin{pmatrix} 1 & -3 & 1 & 2 \\ 0 & 5 & -1 & -3 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

F1)

$$\begin{pmatrix} x \\ y \\ z \\ w \end{pmatrix} \in \text{ker}(A) \iff \begin{cases} x + \frac{1}{5}z + \frac{1}{5}w = 0 \\ y - \frac{1}{5}z - \frac{1}{5}w = 0 \end{cases}$$

$z = \alpha, w = \beta \in \mathbb{R}$

$$\begin{pmatrix} x \\ y \\ z \\ w \end{pmatrix} = \begin{pmatrix} -\frac{1}{5}\alpha - \frac{1}{5}\beta \\ \alpha + \frac{1}{5}\beta \\ \alpha \\ \beta \end{pmatrix} = \frac{1}{5}\alpha \begin{pmatrix} -2 \\ 1 \\ 5 \\ 0 \end{pmatrix} + \frac{1}{5}\beta \begin{pmatrix} -1 \\ 1 \\ 0 \\ 5 \end{pmatrix}$$

$$\Rightarrow \text{基底} \left\{ \begin{pmatrix} -2 \\ 1 \\ 5 \\ 0 \end{pmatrix}, \begin{pmatrix} -1 \\ 1 \\ 0 \\ 5 \end{pmatrix} \right\}$$

$\begin{pmatrix} -2 \\ 1 \\ 5 \\ 0 \end{pmatrix}, \begin{pmatrix} -1 \\ 1 \\ 0 \\ 5 \end{pmatrix}$ は $\text{ker}(A)$ の基底

